4. Now let’s look at the association between z=GDP and y=CO02. z = 16, § = 6.81, 0, =
10.60, o, = 4.67 and r = 0.786.

(a) Find the regression equation for predicted CO2 given a GDP value.
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(b) Predict CO2 at the (i) minimum z value of 0.8 and the (ii) maximum z = 34.3.
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(¢) For the US, z = 34.3 and y = 19.7. Find the predicted CO2 value and the residual.
Interpret this large positive
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(d) Switzerland is nearly as economically advanced as the US, having © = 28.1 and y =
5.7. Find the predicted CO2 value and the residual. Interpret.
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